42 44 46 48 50

0.8

0.6

0.4

275 285

2.65

Trace of left_buffer

T T T T T T
50 60 70 80 90 100

Iterations

Trace of right_buffer

T T T T T T
50 60 70 80 90 100

Iterations

Trace of precision

T T T T T T
50 60 70 80 90 100

Iterations

0.8

0.4

0.0

0.0 05 1.0 15 20

012 3 456

Density of left_buffer

4.0 4.5 5.0

N =50 Bandwidth =0.124

Density of right_buffer

0.2 0.4 0.6 0.8 1.0

N =50 Bandwidth = 0.07453

Density of precision

26 2.7 2.8 2.9

N =50 Bandwidth = 0.02848




-0.20 -0.05

-0.35

0.290

0.275

0.260

-0.007 -0.005

-0.009

Trace of (Intercept)

100

Iterations

Trace of severity

100

Iterations

Trace of age

50 60 70 80 90 100

Iterations

0 1 2 3 4 5

60

20 40

0

300

100

Density of (Intercept)

B I ---I-”"m I I”" mll I —
-05 -04 -03 -02 -01 00 01

N =50 Bandwidth = 0.04546

Density of severity

B I — II l ---------I------- — I"“ : II — I
0.25 0.26 0.27 0.28 0.29 0.30

N =50 Bandwidth = 0.002693

Density of age
A e e e —
-0.011 -0.009 -0.007 -0.005

N =50 Bandwidth = 0.0004389



_
006Y¥-

_
000S-

_
00TS-

_
00¢S-

axI|I-Bo|

_
00€S-

_
00vS—

100

80

60

40

20

iteration



